Efficiency vs Dxy(PV)

1.2

efficiency vs dxy(PV)

Ratio

0.

e 551510 5 "

5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT_original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24

I Efficienc] —— DQM_TT__mod_modelsdeep_somethingbetter

A B
2 I
8 o
S I
% O
g llI ” ‘
: _\HH HJWH \IHH_ }E
1 “TH I :
LA sH\HHsHHH I
>1-0.8-0.6-0.4-0.2 0.4 0.6 0.8

Efficiency vs Dz(PV)

1
TP dxy(PV) (cm)

s 12p — T

g [ : : :

¥ I : : :

» i .'.'"". """ :""' """"

> B . . .

> I : : :

Q r . . .

& 0.8F- . [EEEREEE et

s I : : :

€ T : : :

@ o . . .
0.6 P | EEEREREE ERRERD PR
0.4F- el it
0.2f--- e ERRE || ETTTEEE PPN PR

I i i :{ | i

o +® : : ! :

k) : :

x H H

] S e [ 11 AR .

o =30 -20 -10 0 10 20 30

Efficiency vs Dz(PV)
0.5

TP dz(PV) (cm)

s
o
0.4
k=l
2 o.
3
2.3
o
o
g o
[}

Ratio

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


